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=] = T AN 4 UE D\ | = = U2 A\ - = U D\ = =
1 100kN/M%# 2 % - -~ - —|3mEEXD -~ — - —| 100kN/m#%# %% - -~ - —|3mEEXD -~ - - -
ZThist 1.00| 0.00 ~ 473 58.96 [ £hLust | 000 ~ 0.00 | 1.66 8.37 ZThist 1.00] 500 ~ 5.00 58.96 | £h LUt | 500 ~ 500 | 1.66 8.37
9 100kN/ M%#EZ % - -~ - —|3mEEXD -~ — - —| 100kN/m#%# %% - -~ - —|3mEEXD -~ - - -
ZTh st 1.00| 0.00 ~ 5.86 73.36 [ £h US| 000 ~ 0.00( 1.75 8.84 ZThist 100] 500 ~ 6.60 7336 | EhLUst | 500 ~ 6.60| 1.75 8.84
3 100kN/M%# 2 % - -~ - —|3mEEXD -~ — - —| 100kN/m#%# %% - -~ - —|3mEEXD -~ - - -
ZTh st 1.00| 000 ~ 5.17 6444 | Thiis | 000 ~ 517 | 1.80 9.09 ZTh st 100] 500 ~ 5.60 6444 | £hList | 500 ~ 560 | 1.80 9.09
4 100kN/M%# 2 % - -~ - —|3mEEXD -~ — - —| 100kN/m#%# %% - -~ - —|3mEEXD -~ - - -
ZThist 1.00| 0.00 ~ 469 58.44 | £hLust | 000 ~ 469 1.83 9.25 ZTh st 1.00] 500 ~ 5.00 5844 | £hList | 500 ~ 500 | 1.83 9.25
5 100kN/M%# 2 % - -~ - —|3mEEXD -~ — - —| 100kN/m#%# %% - -~ - —|3mEEXD -~ - - -
ZThist 1.00| 0.00 ~ 477 59.41 [ £hLust | 000 ~ 0.00 | 1.69 8.56 ZhLlst 1.00] 500 ~ 5.00 59.41 | £hist | 500 ~ 500 | 1.69 8.56
6 100kN/m#%#2%5| 100 000 ~ 0.35 105.20 [3mZEH#Z D -~ - — —| 100kN/m#%#2%| 1.00|10.61 ~ 11.60 105.20 [3mZEH#Z D -~ - - -
ZThist 100] 035 ~ 8.14 100.00 | £h st [ 0.00 ~ 8.14] 2.13 10.75 ZhLlst 1.00] 500 ~ 10.61 100.00 | £hklbt [ 500 ~ 11.60 [ 2.13 10.75
7 100kN/ M%# 2 % - -~ - —|3mEEXD -~ — - —| 100kN/m#%# %% - -~ - —|3mEEXD -~ - - -
ZThist 1.00| 0.00 ~ 5.35 66.68 [ £hLust | 000 ~ 0.00( 1.73 8.72 ZTh st 100] 500 ~ 5.80 66.68 | £h LUt | 500 ~ 580 | 1.73 8.72
100kN/M%# 2 % ~ ImERBZD ~ 100kN/ M%#Z % ~ ImERBZD ~
ThList ~ Thist ~ ThList ~ Thist ~
100kN/M%#Z % ~ ImERBZD ~ 100kN/ M%# 2 % ~ ImERBZD ~
ThList ~ Thst ~ ThList ~ Thst ~
100kN/ M%#Z % ~ ImERBZD ~ 100kN/ M%#Z % ~ ImERBZD ~
Th st ~ Thst ~ ThList ~ Thst ~
100kN/ M%#EZ % ~ ImERBZD ~ 100kN/ M%#Z % ~ ImERBZD ~
ThList ~ Thst ~ ThList ~ Thst ~
100kN/ M%#Z % ~ ImERBZD ~ 100kN/ M%#Z % ~ ImERBZD ~
ThList ~ Thst ~ ThList ~ Thst ~
100kN/ M%#Z % ~ ImERBZD ~ 100kN/ M%#Z % ~ ImERBZD ~
ThList ~ Thst ~ ThList ~ Thst ~
100kN/ M%#Z % ~ ImERBZD ~ 100kN/ M%#Z % ~ ImERBZD ~
Thist ~ Thist ~ Thiist ~ Thist ~
100kN/ M%#EZ % ~ ImERBZD ~ 100kN/ mM%#Z % ~ ImERBZD ~
ZhList ~ Thust ~ ZhList ~ Thust ~
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